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A XS EH

M NSFMELS (MY - SAIG/MHEE - DE3)
tel: sESHR 24 2 Zel(sSHIALSESH) (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
XA Ml 4,661,000 8,909,450 A4,248,450
= 800,000
Al 3,861,000
NASBMELT (MY - SAINL/MBRE - VT3 1,827,520 5,915,125 24,087,605
= 800,000
Al 1,027,520
s3HA 24 2 2 (s3HAAMLESSA) 1,827,520 5,915,125 24,087,605
& 800,000
Al 1,027,520
SFEM M= =H 800,000 5,414,000 24,614,000
& 800,000
401 AlEHIZ 2 800,000 5,414,000 24,614,000
= 800,000
01 Al&H| 786,400 5,321,962 A4,535,562
OYEYMsSHA =4 786,400,000 786,400
= 786,400
02 Zeldl 11,600 78,503 66,903
OYEYMsSHA =4 11,600,000& 11,600
= 11,600
03 Al 20| 2,000 13,535 A 11,535
OYEYMsSHA =4 2,000,000 2,000
= 2,000
s3HX 2el 249 55,622 44,428 11,194
101 14| 11,082 10,028 1,054
04 JIZtHIZ22HSE> 11,082 10,028 1,054
O=s3HX S3EY R
42,6203 x3B + 15 44 & 7,672
O=3H1X JIZ2+8H| 22
42,6203 x2 B+ 10 »40H & 3,410
201 LBt ) 29,500 24,000 5,500
01 AtE222/Hl 14,500 10,200 4,300
O t=ZH| 12,500,000& 12,500
O=&Hl 2,000,000& 2,000
02 2223l 15,000 13,800 1,200
OS2I X AHA 9,600
os3HX Jtgs IS 800,000&*12& 9,600
OAl 4 EHI= Xl 5,400
ocs3HX JI2S & HHAEAIE |RNE=>
450,0003 x12& 5,400
202 O4H| 10,920 8,000 2,920
01 ZLHoiH 10,920 8,000 2,920
O=s3HX 29 A& As 7,560,000& 7,560
O=s3HX 485 R+ 3,360,000& 3,360
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A XS EH

M NSFMELS (MY - SAIG/MHEE - DES)
Bl s3SI =4 & 2e(sSHAMSELSIAH) (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
206 M=l 3,000 2,400 600
01 M2l 3,000 2,400 600
O=3HX JII2S HH7Y 3,000,0002! 3,000
301 LEtEAS 1,120 0 1,120
10 SAIAHIZ A2 1,120 0 1,120
O=s3HX AIM s AR A 24
1,120,0002! 1,120
SR E4 40,000 30,000 10,000
401 A& HIZL S 40,000 30,000 10,000
01 Al&H] 40,000 30,000 10,000
ST AIZE2 FHl 10,000,000 #4042 40,000
SIX ola yE2e) 931,898 426,697 505,201
801 OiiHIHI 931,898 426,697 505,201
01 ollBlsl 931,898 426,697 505,201
oolgldl 931,898,000& 931,898
HPSS(XABHD) (ALY - SAIY/MLES - DEF) 2,833,480 2,994,325 A 160,845
SAENE(SSHXAMLSESIH) 2,833,480 2,994,325 A 160,845
ERSPAE 2,833,480 2,994,325 A 160,845
311 X+ S0l Xt4k e 305,480 227,325 78,155
02 Al -2 - 2XSHL I SIS0l XH&f & 305,480 227,325 78,155
OFg=3HX =4 305,480,000& 305,480
601 MUSS4E 2,528,000 2,767,000 239,000
02 Al -2 2SN SHLSAS 48 2,528,000 2,767,000 239,000
OFY=s3HA =4 2,528,000,000&! 2,528,000




